restart

f := 2-Heaviside(t +2) — 2-Heaviside(t + 1) + Heaviside(t — 1) — Heaviside(t — 2);
plot(f,t=-4..4)

L:=3
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el e e

)-int( ft=-L.L);c =

8, i= ( )-int(rcos(%.i't),t:—L..L)
b, = ( )-int(f-sin( L ),t:—L..L)

STF :==c+ Sum(an-cos( %) + bn-sin(% ) n=1 ..infinity)

n-Pi-t . ( n-Pi-t B _
STFgp i =C+ Sum(an-cos( 1 ) + bn~sm(T ) n= 1,,500) :
pIot(STFsOO, t=-29.29)

plot(f, t=-2.9..2.9)
plot( [ f, STFg], t=-1.6..-1.4)

n-Pi-t . ( n-Pi-t _ _
STF, g0 = C + Sum(an-cos( T) + bn.sm(T ) n=1 ..1000) :
pIot(STFlOOO, t=-3.3)
plot( [, STF 0], t=-1.6 .- 1.4)

restart
—E. L
f:=5 exp( > )
plot(f,t=-2..2,y=0..15)
L:=3
. 3y
a, = ( )~|nt( f,t=-L.L);c:= o

)~int(f~cos( n-Pi-t , t

N e
)~int(f~sin( o 2,t

-

)
+)

e e i

STF :=c¢ +Sum(an-cos( n E' +b, ( n'E"t ) n :1__inﬁnity)
STF 1000 = C+Sum(a 'COS( = E H ) +bn-sin(%), n:1._1000j :
pIot(STFlOOO,t——Z 2,y=0.15)

plot([f STF1ooo] t=-16..-1. 4)

restart
fi=1-2+3t+2

fr=+3t+2 1)
plot(f,t=-5..5)
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> b, =

40 1
30
20 -
10
T | ! I
-4 -2 0 2 4
t
L:=5
1. . %
(L)-mt(f,t- L.L)ic= -
62
ao.—?
c:= L
T3

(%).im(f.cos(%”),t:_L..L)

_2(-50sin(nn) +27 n21c25in(n n) +50nmcos(nt))

n-

(%).im(f.sm( LR ),t:—L..L)

_ 30 (nmcos(nm) —sin(nm))
b,:=- 5 2
n“m

3
nSTC

)

©)

(4)

()



> STFjg00 = c+Sum(an-cos( n'E"t ) +bn.sin( n'E"t ) n=l..1000) :

> plot(STF g0, t=-3.3)
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> plot([ f, STFyg0] t=-16..-1.4)
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